KOHCTpYKTUBHbIE UcnoNHeHuA rmnbs 3.16

Ob6osHa
HEHIS ipK Py, MMa M, mm M1, mm Dbvm d,mm D1,mm S wmm Li,mm L2, mm L, mm

3aKase
r3.16.1.1.L 16 M20x1,5 M20%1,5 12 9 30 30 20 16
rs.16.1.2.L M27x2 12 9 30 36 25 16
r3.16.1.3.L G1/2 12 9 30 30 20 16
r3.16.1.4.L R1/2 12 9 30 30 20 16
3.16.1.5.L M33x2 12 9 41 41 20 16
3.16.1.6.L G3/4 12 9 30 36 25 16
r3.16.1.7.L M16x1,5 12 9 Mo 3anpocy
r3.16.2.1.L 16 M27x2 M20%1,5 12 9 38 32 20 22
r3.16.2.2.L M27x2 12 9 38 36 25 22
r3.16.2.3.L G1/2 12 9 38 32 20 22
r3.16.2.4.L R1/2 12 9 38 32 20 22
r3.16.2.5.L M33x2 12 9
3.16.2.6.L G3/4 12 9 [o 3anpocy
r3.16.2.7.L M16x1,5 12 9
r3.16.3.1.L 16 G1/2 M20x1,5 12 9 30 30 20 16
r3.16.3.2.L M27x2 12 9 30 36 25 16
r3.16.3.3.L G1/2 12 9 30 30 20 16
r3.16.3.4.L R1/2 12 9 30 30 20 16
r3.16.3.5.L M33x2 12 9
F3.16.3.6.L G3/a 12 9 Mo 3anpocy
r3.16.3.7.L M16x1,5 12 9 30 30 20 16 60, 80,
r3.16.4.1.L 16 R1/2 M20x1,5 12 9 30 30 20 16 100, 120,
r3.16.4.2.L M27x2 12 9 30 36 25 16 ;gg: ;gg
r3.16.4.3.L G1/2 12 9 30 30 20 16 320, 400,
r3.16.4.4.L R1/2 12 9 30 30 20 16 500, 630,
3.16.4.5.L M33x2 12 9 800,
[3.16.4.6.L G3/4 12 9 Mo sanpocy 1228
3.16.4.7.L M16x1,5 12 9 1600:
r3.16.5.1.L 16 M33x2 M20x1,5 12 9 41 41 20 16 2000
r3.16.5.2.L M27x2 12 9 41 41 20 16
r3.16.5.3.L G1/2 12 9
3.16.5.4.L R1/2 12 9
r3.16.5.5.L M33x%2 12 9 Mo 3anpocy
r3.16.5.6.L G3/4 12 9
r3.16.5.7.L M16x1,5 12 9
r3.16.6.1.L 16 G3/4 M20x1,5 12 9 38 32 20 22
r3.16.6.2.L M27x2 12 9 Mo 3anpocy
3.16.6.3.L Gl/2 12 9 38 32 20 22
r3.16.6.4.L R1/2 12 9 38 32 20 22
3.16.6.5.L M33x2 12 9 Mo 3anpocy
r3.16.6.6.L G3/4 12 9 38 32 20 22
3.16.6.7.L M16x1,5 12 9 Mo 3anpocy
M3.16.7.1.L 16 M16x1,5 M20x1,5 12 9
r3.16.7.2.L M27x2 12 9
r3.16.7.3.L G1/2 12 9
r3.16.7.4.L R1/2 12 9 Mo 3anpocy
r3.16.7.5.L M33x2 12 9
3.16.7.6.L G3/4 12 9
r3.16.7.7.L M16x1,5 12 9



KOHCTpYKTUBHbIE UcnoNHeHua rmnbs 13.25

O6o3HayeHne npu Py, MMa M, mm M1, mm D, mm dvv Di,mm S,mm  Li,mm L2, mm L, Mm
3akase

r3.25.1.1.L 25 M20x1,5 M20x1,5 16 12 30 30 20 16
M3.25.1.2.L M27x2 16 12 38 36 25 16
3.25.1.3.L G1/2 16 12 30 30 20 16
r3.25.1.4.L R1/2 16 12 30 30 20 16
3.25.1.5.L M33x2 16 12
r3.25.1.6.L G3/4 16 12 Mo 3anpocy
r3.25.1.7.L M16x1,5 16 12
r3.25.2.1.L 25 M27x2 M20x1,5 16 12 38 32 20 22
M3.25.2.2.L M27%2 16 12 38 36 25 22
[3.25.2.3.L G1/2 16 12 38 32 20 22
[3.25.2.4.L R1/2 16 12 28 32 20 22
r3.25.2.5.L M33x2 16 12 Mo 3anpocy
3.25.2.6.L G3/4 16 12 38 32 20 22
r3.25.2.7.L M16x1,5 16 12 Mo 3anpocy
r3.25.3.1.L 25 G1/2 M20x1,5 16 12 30 30 20 16
M3.25.3.2.L M27x2 16 12 38 36 25 16
3.25.3.3.L G1/2 16 12 30 30 20 16
3.25.3.4.L R1/2 16 12 30 30 20 16 138, 220’
r3.25.3.5.L M33x2 16 12 160, 180,
r3.25.3.6.L G3/4 16 12 o sanpocy 200, 250,
r3.25.3.7.L M16x1,5 16 12 320, 400,
r3.25.4.1.L 25 R1/2 M20x1,5 16 12 30 30 20 16 50%0 230,
r3.25.4.2.L M27x2 16 12 30 36 25 16 1000,
3.25.4.3.L G1/2 16 12 30 30 20 16 1250,
r3.25.4.4.L R1/2 16 12 30 30 20 16 1600,
r3.25.4.5L M33x2 16 12 2000
r3.25.4.6.L G3/4 16 12 Mo 3anpocy
r3.25.4.7.L M16x1,5 16 12
3.25.5.1.L 25 M33x2 M20x1,5 16 12 43 41 24 28
r3.25.5.2.L M27x2 16 12 Mo 3anpocy
3.25.5.3.L Gl/2 16 12 43 41 24 28
r3.25.54.L R1/2 16 12 Mo 3anpocy
r3.25.5.5.L M33x2 16 12 43 41 24 28
3.25.5.6.L G3/4 16 12
[3.255.7.L M16x1,5 16 12 flo sanpocy
r3.25.6.1.L 25 G3/4 M20x1,5 16 12 38 32 20 22
3.25.6.2.L M27x2 16 12 [Mo 3anpocy
3.25.6.3.L G1/2 16 12 38 32 20 22
3.25.6.4.L R1/2 16 12
3.25.6.5.L M33x2 16 12
[3.25.6.6.L G3/4 16 12 Mo sanpocy
3.25.6.7.L M16x1,5 16 12

S a

vy =
=
SL QA
L v
Tk i
12 )
i . L




Ycnosus npumeHeHuMA npeobpasosaTteneii ¢ 3aWMUTHOM FMN1b30M U3

YcnoBHoe n MakcumansHas
Mopenb nasnieHue Py, orpyxaemas CKOpOCTb MOTOKa, M/C
yacts L, Mmm
Mla nap BoAa
60, 80, 100,
M3.25.XXL 25 120 40 4
160 30 3
200, 250, 320 25 2,5
400, 500, 630,
800, 1000 S 0.5
1250, 1600,
2000 2 0.2
60, 80, 100,
r3.16.X.XL 16 120 25 2,5
160, 200, 250,
320 15 1,5
400, 500, 630,
800, 1000 s 0.3
1250, 1600,
2000 1 0.1

lpumeyvaHue - npu memnepamype paboyel cpedb! ebiuie 400 oC 3HadyeHuUe

npedesibHOU CKopocmu riomoka cHuxaemcs 6 1.5 pasa.




